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1

e bellow the characteristes of il types
of fibers.

1. Long, softand shiny fber. Namberd | Activity

2. Soft,hustrous and flexible Wiclting of icc

3. Soft Quffy and staple fibor Gecomposition of eaves.
4. Softlustrous and comfortable Burning of wood

nthe following tabl,

Which one of the following is correct for above Evaporation of water
foatures? Digestion of food 7
(4) et 2lax, 3-cotton, Sooiling of 1200

) 1-silk 2-lax, 3-coton, 4 jute [Painting of waoden box
(©) 1-jute 2-cotion, 3- ik
D) Rax 2jute, 3-cotion

(8) None of these -

Which of the preceding activities invalve chemical
changs?
(A) Activities 1.2
@) Activities 23,4
(©) Activities2.3.4.6
) Activities2.3.5
E) Noneof theso.
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[image: image2.jpg]3. “the carth crust is not a solid shell. The earth
‘cansists of thick plates that drift on top of tho
soft mantle. Which of the folluwing should be
the immediate result of the movement of the
carth's thick plates?
(A) Ocean cuments
€) Glaciors

) Nonoof these.

(B) Earthquakes
) Tides

Compound: Sugar and Copper
(€) Klement: Iron and Copper.
Mixture: Air and Drass
Compound: Sugar and Wator
D) Hlement: Copper and Brass
Mixture: Air and Wator
Compound: Sugar and Brass.
(8) Nonoof thoso

4. Water moves from root towards the upward
direction i plants. Which one of the following,
can be responsible for this movement?

(4) Tronspiation
{B) Photosynthesis
(©) Oxygon elonse from plant
) Presence of chlorophyll
(€] None ofthese
5. There is an ccosystem. An fnvasive plant s
introduced in this ecosystem. Which of the
following will surcly oceu in this ecosystes
) The nvasive plants grow rapidly and native
‘plants begin to die
®) Nativo plants may begin to grow rapidly.
(€] Herbivores grow rapidly.
D) Native plants may gt extra support
&) Noncof these

6. Given below isa list of some tems:
Sugar, Air, Water, Iron, Copper, and Brass

Select the option that correetly classifies them
into elemeats, mixtures, and compounds.
(A) Element: Copperand Iron
Mixture: Water and Brass.
Compound: Air sid Sugar
) Element: ron and Brass
Mixture: Afr and Water

e

7. Chomical change ocours when atoms arelinked
oo i waya o form e Stancis
withne propey. Which onc of the followis
isan oxmploofchemical changet
(4) Plants convert carbon dioxide, waer, and.
sunlight 1o sugar and oxygon by
‘photosynthesis

(8) Water s converted into e

(€) Melting of lce cream

(0] Breaking of Glass

) Noneof these:

8. Given below a listof methods of reproduction.
Categorized them as asexual and sexual

. fragmentation, vegotative

reproduction

() Asexual: pollination, budding, spore
formation,fragmentation
‘Sexual: Ferilization, vegetative eprodnction

8) Ascxual: pollination, hudding, agmetation
‘Sexual: Fortilization, vegatative reprodction,
spore formation

(©) Asexual: budding, spora formation,
fragmentation, vegatative roproduction
Sexual: Fetilization. pallination.

) Allof theso

(£) Noneof these.

9. Inthe process of usmosis water travels from the
rugion afhigh concentration o Use reion of o
‘concentration. dentfy both the regions.

[4) Root huir: egion of high concuiration
Sol: egion of low concontration

) Root bair: region of s concontration.
Soil: egion of high concentration

(€) Both (A) and (B)

©) Allof those

18) Noncof these:
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[image: image3.jpg]10. Match the following:

(1) Biodegradablo waste (A) Soil consorvation  +

) Soil ) Pollutesthe
surroundings
(8) Disposalof waste (C) Decompositionby
in open microorganisms
) Forests ) Flantation -

(A) 1-d,2-0,3-b, 4
® 1,203,
(©) 1¢.2.d,3b,4-a
) Allofthese:

() Noneof these

11, Statement A: The higher the sleciical resistance:
‘of amaterial, the greater s the heat produced.
‘Statement B: The higher the electrical resistince
‘ofamaterial, the lawes i the hoat produced.
(A) Statement Al truo
®) Statement Bis trus
(©) Both statement A.and Bars true
() Both statement Aand Baro faso.

{€) Both statement A and B are partly true

12. Which oneof the following defines speed?
(4) Distance travelled per unit ime
(B} Periodicintorval of time
C) Distance travelled
) Freoquency
(B) None of these

13, Wil is caused because of the heating of sun.
But the rate of heating is fifferentin different
regions such as cold or warm regions. What
impact does the uncqual heating make on wind?
(A) tnhol region wind blows fest because of more
heating.

®) In cold rogion wind blows slowly bocause
of moro heating

€) Both (3) and (B) 5

) Wind blows bacause of unequal heating of
the aith.

() None o theso

14, Read the following:

“The suntight reates heated air that creates the area
of low pressure. Cold air maves into the area
‘pushing the hot air in the upsvard direction. This
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Process continues and thus rvates cycle or current
of air. The rotation of the carth drags air current
around the low pressurs arca.
What do these lines indicate?
() Development of Tsunami
) Developmentof Storm
(C) Developmentof Cyclone
) Development of Wind
) Noneof these
15. Whiat do you mean by acstivation’
(A) The process of heating of the ath
B) The process of sleop to cope up Uhe cold
weathor
(C) The process of g o summne slecp tocope:
up the hassh climate
) Allofthese
£) Nonoof these

16 While conducting an experiment in the
laboratory you found that when you pour o
substance on blue fitmus paper it turns into .

What kind of substance it is?
(A) Bsse

(®) Acid

© Salt

©) Allof these

) Noneof these.

17. You st have noticed that when you keep &
stickintothe bucket containing waler it appears
stightly beat. Why it is so?

() Thisis bcause o the efletion ofight

(8] This s bocmuse of the refeaction of ight

(€) This isbecauso light travols donser medium
o rarer modium

) Allof these

) None f these

16, While laoking in.a mirror you see that your left
‘hand becomes your right and yous right hand
becomes yourioft. What could be the possible
reason for this?

() Iimage formation at wiong side
@) Misrorfosms virtual image
(C) Mo forms real iniage

) None of these

() Nomoof thuse.




[image: image4.jpg]19. Consider the following two statements:
Statement A: When radiant energy falls on an
object, rome of the energy is absorbed and somo
s reflcctod by the objoct.

‘Statement B: Objects that are shiny and smooth
are betterabsorbers.

‘Which ofthe followingis correct with respect to the-

above statoments?

() Statoment A s True:

) Statement Bis Truo.

€) Hoth, Statement A.and Baro Truo.

) Both, Statomont A and B aro False.

(5) Roth, Stalement A and Bare parlly Trua

20. Light travels in a straight line, This is
called ,

14) Propagationaf ight
) Recilinear propagation of light
C) Collincar propagation of light
D) Allofthese

(%) None o these:

2L A student takes the misture of fron and
aluminum in a pol and wants to separate the
altuminun particle from the misture, How can
the student separato i
() By usiog magnet only
) By using ilter paper only.
(C) By using Bunson burner only
D) By using filtor papr and by

burner both

) Noneaf these

using Banson

22, Which of the following helps in the clotting of
blood?
(4) Plasma
) RBCs
€) Platolets
o) WiCs
(¥) None ofthese

23, Which of the following carry blood from the est
of the body ta the heart?
(&) Veins
) Capillaios
(©) Arteries
D) Allof thess B
() None of those

Slas 75 Poge 4 ]

24 Thesolublty of asessincrased by Incrasing

(8) Temperatuse
®) Prossure

(€) Surface area

D) Tomperaturn and prossure
() None ofthese

25. Acids and salts react with oach other to
produce—————and—————
() Hydrogen fons, hydroxide ons
(B) Ammonia and water.

(€) Water and oxygen
©) Soltand water
) Nonwof theso

26, The eneray can be found in different forms, such
asheat, sound, light, cloctrical, and chemical.

[B) Hoatenergy
(€) Potentislenergy
) Hoo

22, The sreen plantstransfom: ey to
chemical enexsy through the photosynthesis
process. The —— enexy can be converted o
chemical energy through clectrochemical
reactions.

() Heat, loctical
) Sola, Host

) Heat, tomic
) Sola, loctical
® Nonso the

20, While performing an experiment in laboratory
hatinvolves heatng ol misture of slphric acd
and water a student gels acid bueas over his
faceand hands. Inarn which of the fllowing
labaratory safety measures re responsible fr
this laboratory accident?

1. He wos olding the test tub'in which
mixture was hated tled lowards him.

2. Ho poured wates 10 sulphuric acid i
e

3. Ho poured sulphusic acid t water n tost
tube;
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[image: image5.jpg]4. Ho was holding the test tube in which
mixturo was heated lted tovwardsa ventilated

area. %

5. Howas not wearing lab apron.

6. He did not study the procedure to perform
the experiment thoroughly.

@126

® 134

©) 136

) 1.35

(E) Noneof these

20. Aschoolbustakes 15 minutes o cover a distance
of 10k, Calculate it specd n kn/h.
(&) 20k
® 30kuh
©) 40k
© sokmh
) Noneof these:

30, Sumith went to the bus stop with an umbrella on
a sunny day. He regretted that he would not
have watched the news on the television.

‘Which one of the following inferences can be
deawn from the above scenario?

(4) Smith docs not like watching news on

telovisian,

®) Smith always takes umbrella with him
whenever he goos out.

(C) Smith watches weather forecast nows that
predicts rin.

(©) Smith aways watches newsbefors going out.

() Noneof these

3L Which of the following has high electrical
eosistance?
(3 Leather
(B) Guvenblogof wood
(©) Plastic
@) Allofthese.
(8) Nonoofthese

32 An old man is sitting (facing north) in a bus
moving along cast. I the bus suddenly stops, in
which direction will he experience aforce?
(A) Towards his right hand.
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(®) Towards his left hand
(€) Towards his back

) Toward his front

{®) Noneof these

3. Aball thrown vertically upwords in the moving
train. What will happen?
(A) Ball returms to the thrower
(8) Palldoes not return to the throswor
(€) Ball moves inthe direction of train
D) Ball moves in opposite dircction of tain
(E) Noneof th

‘Sometimes after the rain rainbow appears in
the sky. The formation of rainbow in the sky is
an example of_ light.

(A) Refloction

®) Refruction

(©) Rays

©) Colour

() Noweof these

35 Steve tastes a substance that has bitter taste.
‘Whatkind of substance docs he taste?

() Acidic
(@) Bosic

(© salt

() Allofthese
(F) None of these

6. Which one of the following is a salt?
(A) Calcium
() Calcium oxide
(©) Caleium hydroxide
) None ofthese.
) Noneof these.

37. During summer season somelimes we feel very.
‘uneasy because of continuous sweating, What
isthe reason of this continuous sweating?




[image: image6.jpg]38, A person, prefers to learn things randomly,
impulsive, creative and has highly developed
acsthetics sense. Then what can be said about
the brain ofthis person?

(A) His loft part of tho brain fs moro doveloped
than ight part

B) Hisright part of tho brain is more developed
than eft part.

(C) Roth tho loft and the right parts of the brain
are equally doveloped.

D) The information given cannot be used o drav
‘any conclusion about the brain of the person.

) Noneof theso

9. Jack, James, Steve, and Marksare running wi
kgms, 674 kg ms, 679 ks /s, and 913 kg
‘m/s momentum simultancously. Which one of

stop
() James:

) Marks

(© Steve

) Juck

) Noneof theso

the following plaers would be the hardest to
7

0. Match the ollowing:
() Heator cloment
@) Filament
©) Flectromagnets

@) Rubber
4) 1e2bidaa
(© 1d2a3bac
® 142c3baa

() Tungsten

® Fan

(©) Highalectrical
resistance

) Nickrome

® 1czaddsd

) 1d2c3ash
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